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Do not remove this answer page — you will return the whole exam. You will be allowed
two hours to complete this test. No books or notes may be used. You may use a graphing
calculator during the exam, but NO calculator with a Computer Algebra System (CAS) or a
QWERTY keyboard is permitted. Absolutely no cell phone use during the exam is allowed.

The exam consists of 4 multiple choice questions and 8 free response questions.

Record

your answers to the multiple choice questions below on this page by filling in the circle
corresponding to the correct answer. All other work must be done in the body of the exam.

Multiple Choice Questions
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Multiple Choice Questions

1. Evaluate /xf(m) dx.

A. x-f(:c)—/x.ff(g;)dx

f(:c) [ Zrwa

1’2

D. z- f(x)— /f”(a?) dx
E 5 f(x)dx

2. When making the usual trigonometric substitution in the evaluation of the following
integral, which substitution will be made for dx?

/m
dx
T

J = /3secOtan b db
B. dx = 3secfdb
C. dx = /3sec?0dp
D. dz = v/3cosfdb
E. dx = 3secftanf db
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3. The region in the first quadrant between the z-axis and the graph of y = 6z — 22 is
rotated around the y-axis. The volume of the resulting solid of revolution is given by:

/6 (61 — ) de

./ ome (60 — o) da
. /0 re (62 — 2)° da
D /Oﬁﬂ(umf
o) /Ogﬂ(umf

4. The average value of f(z) = 2® over the interval a < z < b is
A. 3b+3a

B. b + ab + a?
b + a3
C. 5
b3_a3
2

Q=

D.
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Free Response Questions

You must show all of your work in these problems to receive credit. Answers without
corroborating work will receive no credit.

w/2
5. Find / cot x dz. Show all of your work.

/.,
= Coe X A= X
S% s "”(C}i?( C/U«“ijsxd_a}x

Sr’\(
=S Ll ] sweE=
— V\L‘l. 1 Z/>
z }

SR SRR
~ () dH64

6. Evaluate \/ — 22 dx. Show all of your work.

L e X—gSmé\_, = go P PO
A= 20 B dF v
© - arcsinC :5) S CoS® A6

RN = ) O ﬂ,g ""'”@@349
msm(%‘)' :lz<@+ MEQ)‘W/‘L

:%(@; o) - o+®]-0ﬂr
7069
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7. Find the volume of the solid whose base is the region enclosed by y = 2% and y = 3.
The vertical cross sections perpendicular to the y-axis are rectangles of height |/y.

'\/oluv»na = Si A(D”{f
A(_B-“—bqs&-\nm \'\'}'—‘—Zﬂ ﬂ
f =2 AR /

3
\/‘Dluwng,-: Sj Z-/d\ = YZ \o :Ci-'o :q

8. Evaluate / sin® z cos®  dz. Show all of your work.

:gs‘t"\xc l’fo%1X) szé(dx - conx
- S S Mor Cc_oszx-— CQ;IXB J_X du,:—smxoly

- S woatdus Sut-a?elu
Ly 5

IJ

>

— C % ?
= LL_’Q} + - 0> . Co> X*C
5 Z > 2
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9. Evaluate /x2 Inx dx. Show all of your work.

az Lnd A= Boky

. = % V= —é—s—
>= x> 3.1
S %g 531 e
= X'}ﬂv\[)r) \ 52.\@ >
SR R

10. A rod of length 7 meters has the linear density p(z) = z(1 + z) kg/m for 0 < z < 7.
Find the total mass M of this rod.

MAGSss = S SC-)‘)"'{X
= Q7 ol = 7 wrr ol
’ = 2 ]*, Lt Y43

Stx |, Sy =
:.2——653—/&-\3873
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11. A conical tank of height 4m and base radius 3m sits on its base and is filled to half its
height with water. Find the work done in emptying the tank by pumping the water out
the top. The acceleration due to gravity is 9.8 m/sec? and the density of water is 1,000
kg/m3.

\A/‘U-pbt o l&r"—r .-\6‘ LQ'O% 7’
S mass- 43 - Q‘t"'/v
= ,\\JY"Z A\/. 1000 - ‘18 (II-_\/D "\e:g\l\": t‘l'_ - I:l-——;c

V.)-&z, > v
3

:'/'\\J\C]T(H—\/jz AY {00 ["['() = L\(Lt—r)
okl ek <37 e q300 (- T oty
— 1,025% QT (1)) w= -
= S A

Aduw= —
o v
-2 Y

_ ozl SL{ u” Ay
- T= 2

/

< o I 2
. o254
=z

= WozZSqy a1y _ \{ju2Snv ('ysg - \é.)
+

60 = 330,750 D
1039 kY
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12. The region R is the region bounded by the curves f(z) =
z? and g(z) = 6 — z and the z-axis for x > 0.

(a) The region R is rotated around the x-axis. Set up

the integral to be used to find the volume of this

solid. x

(b) Find the volume of the solid in (b)

DfSk W\UHI"Jl
4) V= S: W Cx"’)L Ax

T g GZ """@—Azo(x

< = s .z
b’) SOZ ,'\r(?(t) 0(-)(-7 ,‘\\’%0 X Al e /W_KS_ID = ?)‘SAN
2 6 -
Sjrrr@-max; fw§z(c—x3otx ‘:;c—x
“u

= —olx
—\\S qdu\—’r'gho{u\“’ﬁ“\ Char
=2

29 b4 16
Volowe = ’55"“ %rh-,:i\—sﬁ—-‘:: 37.13
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